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ECONOMICS
PAPER —1II

Note : This paper contains fifty (50) multiple choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Incase of public goods market demand is derived by vertical summation because public
goods are :
(A) Free goods (B) Unlimited in supply

(C©) Non-rival in consumption (D) Owned by public sector

2. Match the following :
List I List II

(a) Four consumer surpluses (i) David Ricardo
(b) Differential rent (i) J.R. Hicks
(c) Entry preventing price (iii) P.A. Samuelson
(d) Strong ordering (iv) J.S. Bain
(v) R.Malthus
Code :
@@ () (o (d)
(A) @) @) @) @Gv)
(B) G) @ (v) (D)
© @) @Gv) @ @)
(D) Gv) (@) @) (V)
3.  Marshallian demand curve can be derived with the use of revealed preference theory if
one of the following is ignored :
(A) Price effect (B) Income effect
(C) Substitution effect (D) Demand effect
4. If the two goods are bad substitutes, indifference curve will :
(A) Dbe a straight line (B) approach a straight line
(C) approach a right angle (D) slope upwards
5. A given total outlay on factor inputs available at given prices is reflected by :
(A) iso-revenue line (B) iso-cost line
(C) iso-quant (D) production possibility curve
6. In Stackelberg’s model of duopoly, if both sellers act as followers, we then have :
(A) Cournot solution (B) A price war between sellers
(C) A situation of disequilibrium (D) Collusion between sellers
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YT T S I
(A) I 9T (B) A Y™ (C) Ufdem A gurel (D) | GuTe
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(A) T el Y@ & (B) il Y@ % T gm

(C) eIV & FH BT (D) R T 3R gehal g7
5. & T godi W SUes WieH AT R el Ui giafsied 2§
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(C) HH-34fd W@ gh (D) 3cafd HYTeHT 3k 51/

6. T5HIfoeR o Tohaten! AISd & ST=Id AfG QI Tashdl STIHT SIeht hTdl o 1 U Il © -
(A) FAI A (B) faskareli & 7ed Yoa-45
(C) fuqer =i fearfa (D) forskamsti < \eat wig Mg
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10.

11.

12.

13.

14.

The merit of revealed tpreference theory over earlier theories is that it explain consumer
e

behaviour without reference to :
(A) Utility (B) Consumer’s income
(C) Consumer’s preferences (D) Rationality assumption

Utility function for a consumer is monotonically increasing in the quantities consumed
of a single available commodity. Such a utility function is always :

(A) a concave function (B) a strictly quasi-concave function

(C) a strictly concave function (D) a linear function

Re-statement of quantity theory of money is a :
(A) theory of interest rate (B) theory of income determination

(C) theory of demand for money (D) theory of consumption demand

Which among the following does not constitute a source of growth in potential output?
(A) Capital expansion (B) Labour expansion

(C) Improvements in technology (D) Improvements in the monetary system

It follows from the assumption of rational expectation hypothesis that :

(A) most unemployment is voluntary

(B) monetary policy can work in the short-run

(C) fiscal policy can work in the short-run

(D) all policies that are predictable are ineffective

A person who is no longer looking for a job is considered :

(A) structurally unemployed (B) frictionally unemployed
(C) under - employed (D) none of the above

Commercial banks are the largest category of financial intermediaries; others include :
(A) life-insurance companies (B) pension funds

(C) savings and loan institutions (D) all of the above

An increase in reserve requirements :

(A) raises the cost of financial intermediation

(B) raises the profit from financial intermediation
(C) raises the volume of financial intermediation
(D) all of the above
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11.

12.

13.

14.
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15.

16.

17.

18.

19.

20.

21.

If there are no demand or supply shocks :

(A) actual inflation will decline to near zero

B) actual inflation will decline below the expected rate
) actual inflation will rise above expected rate

D) actual inflation will be equal to the expected rate

Grass root planning refers to :
(A) Panchayat Raj
B) Land Revenue System
) Community Development Programme
D) Prominence to Sectoral Priorities

According to Solow, the long-run rate of growth in an advanced economy equals
Harrod’s.

(A) Natural Rate of Growth (B) Warranted Rate of Growth
(C) Actual Rate of growth (D) Warranted Rate of Technical Progress

The most important feature of tied-aid is that :

(A) it can be used only in the private sector

(B) it is to be shared equally between the public and private sectors

(©

(D) it can be used only for the purpose for which it has been extended and to be used
in procuring resources from the specified sources

it can be used only in the public sector

Balanced growth means :
(A) equal increase in resources allocated in all sectors of the economy
B) equal percentage growth in output in all sectors of economy
) balanced development of different sectors of economy
D) equal development of different sectors of economy

Capital per person decreases if investment per person :
(A) is less than the population growth rate
(B) exceeds the population growth rate
(C) exceeds savings per person
(D) is less than savings per person
In the neo-classical growth model, an increase in the marginal propensity to save :
(A) increases steady-state output per person
B) increases the steady-state growth rate of output
) increases steady-state capital per person
D) both (A) and (C)
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22.

23.

24.

25.

26.

27.

28.

29.

30.

The per-worker production function assumes :

(A) constant returns to scale and increasing marginal returns
(B) constant returns to scale and diminishing marginal returns

(C) increasing returns to scale and diminishing marginal returns

(D) decreasing returns to scale and diminishing marginal returns

Which of the following tax systems promotes more equitable distribution of income :
(A) progressive (B) regressive

(C) proportional (D) indirect

Laffer curve studies the relationship between :
(A) tax rate and tax revenue (B) tax rate and expenditure

(C) tax rate and consumption (D) tax rate and welfare

Tax on in herited property is an example of :
(A) Sales tax (B) Income tax (C) Wealth tax (D) VAT

The percentage of total income which the government takes away in the form of income
tax is known as :

(A) total tax (B) average tax rate
(C) marginal tax (D) marginal tax rate

In the face of a stagnant economy, a government should :

(A) spend more, tax less and/ or pursue an contractionary monetary policy
(B) spend less, tax less and/ or pursue an expansionary monetary policy
(C) spend more, tax less and/ or pursue an expansionary monetary policy
(D) tax more, spend less and/ or pursue an expansionary monetary policy
The chairman of the 12" Finance Commission is :

(A) V.R. Panchamukhi (B) C. Ranga Rajan

(C) Bimal Jalan (D) AM. Khusro

The expansion of the government debt could result in :
(A) a decline in savings (B) an increase in interest rates
(C) a decline in investment (D) all of the above

The economist who said that international trade was based on the principle of absolute
advantage is :

(A) J.S. Mill (B) Adam Smith
(C) Bertil Ohlin (D) David Ricardo
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23.

24.

25.

26.

27.

28.

29.

30.
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31.

32.

33.

34.

35.

36.

37.

Protectionist tariffs and quotas often :

(A) to little to stem the tide of cheap foreign imports

(B) reduce the real incomes of the protected workers and consumers
(C) lead to complete economic isolation of a nation
(D)

D) result in increased world-wide production efficiency

The simple theory of two good, two country comparative adventages in itself will not
enable us to determine.

(A) The upper and lower limits of the price ratio at which the goods exchange after
trade
(

(
(D)

The exact price ratio at which the goods must exchange after trade
The pattern of geographical specialisation

CIGIE

Which country exports which good

If one of two countries has an absolute advantage in the production of every commodity,
then :

(A) there is no comparative advantag and therefore no trade

B) trade would benefit efficient country but not the inefficient one
) trade would benefit inefficient country, but not the efficient one

D) none of the above

Under the banner of comparative advantages the free trade of specialised goods between
two countries will result in :

(A) A reduction in over-all economic efficiency

B) A reduction in the real wage level in one of the two countries

) An increase in the real wage levels in both countries

D) An increase in the real wage level in only one of the two countries

Bretton woods system :

(A) Established fixed par values for countries
(B) Was to be a system of adjustable pegs

(C) Expected countries with persistent surplus to devalue their currencies
(D) Was created to slow down inflation after world war II

The five year plans in India are finalised after the approval of :

(A) The President and the Prime Minister

(B) The Rajya Sabha

(C) National Development Council

(D) The Lok Sabha

According to the latest data available the service sector in India contributes about :
(A) 30 percent of GDP (B) 40 percent of GDP
(C) 50 percent of GDP (D) 60 percent of GDP
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31. VAR SR qeI i FgH
(A) T foeel ST % TR ol I § St & Heg A ©
(B) wfard afirehl qem SUMREISH i aTEdfaeh ST 1 HH HL I T |
(C) T Tg ol qui oTIfefer aTerma oY od €
(D) forer =Tt Seure & | gfeg e €

32. 1 oqE, T U AT oIS a1y ol W fagr feifa 7@ & <
(A) T UM i U T et Harsti o1 9 W AR % qeard awgsii &1 ot gmm
(B) A= Fioa 31U 1 o R =R &% w=d sgeit 1 fafma g =nfed
(C) e faferstetor &1 wred
(D) & T FoFg a5 w1 fFaid war §

33. T H Afe Uk T 1 Weft IR o Scared § FRue oy g € o ¢
(A) IE FoTCHSE TN T BT TR ST SAmR off =& 2
(B) TR | FHII T I TN BT Ak STHIA hl &l
(C) SR | AHIE T Sl ATH TN Afeh FIA hl el
(D) ST H ¥ FE T
34, {OIHSE oY % 6E, o T o ore fafire axgeti o g SR | grf
(A) TEUT 3Tfefen Shriaear | S
(B) TS H ¥ forell U TUtg i ArEdfaeh Ay o W H HHl
(C) < T & ATtk TGy & Wl H Jfs
(D) < T H § Had Th T hl ardaen Asigl & &R H gfg

35. o geH I
(A) o R o Teer THar gl 1 wefya fean
(B) I HIEITS T8 (Pegs) i TGfd 1 o1
(C) 4 3men i o SR Afiter arel 99 91 hif&l o1 STaqea il
(D) fadita foreergs & qv=md Ha1 YOR i H i o ol Tifid st 78 off

36. RA H G=aHd AISHIST Sl 57k STIHRA % IvaTd Sifaq 9 fean s @
(A) Tegafd qen geEEs gN (B) TH HWI§N
(C) T fask™ afeg g/ (D) i |1 g1

37. FEHqH U STihSl % ATHR, ARG B Tl &5 ol SVEH Hehel T SATE T € ¢
(A) 30 Yfderd o TTHA (B) 40 Wfdwrd o TRTHA
(C) 50 Hfeerd o TTHA (D) 60 HfaeTd o TRTHA
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38.

39.

40.

41.

42.

43.

44.

45.

In India national income is estimated by :
(A) Finance Commission (B) Central Statistical Organisation

(C) Planning Commission (D) Finance Ministry

Which of the following taxes was introduced in India under the long term fiscal policy
(A) MODVAT (B) VAT (C) Profit Tax (D) Succession Tax

Debt relief to farmers is a part of :
(A) Plan expenditure (B) Non-plan expenditure
(C) Development Expenditure (D) Defence expenditure

Poverty line for rural areas in India is determined on the basis of minimum average
daily consumption of calories which is :

(A) 2000 (B) 2700 (C) 2500 (D) 2400

Indian Planning Commission is a :
(A) A parliamentary body (B) Ad hoc body
(C) Non-statutory body (D) constitutional body

Which state in India has the highest HDI?
(A) Andhra Pradesh (B) Delhi
(C) Kerala (D) Uttar Pradesh

Bxy and Byx are slopes in regressions of x on y and of y on x respectively. Then, the

correlation coefficient, » between x and y is.

(A) equalto Iﬁxy .ny

(B) equalto (By, +By,)/2

(C) equalto Bxy/ Byx

(D) not related to regression of x on y or regression of i on x

A one rupee coin and a five rupee coin are tossed simultaneously. If one of the coins
has turned up heads, then the probability that both coins turn up heads is :

1 1 1 2
(A) 5 B) 3 © 3 D) 3
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38.

39.

40.

41.

42.

43.

44.

45.

IRA § TSI 3T i UMD 6t Il ©
(A) Tod eI gr (B) h=Id HIREAh! Gl gN
(C) TSI SR g (D) fo1 "o

EEehTe STehTuTd Fifd o 3T=avid =1 § 9 forg o ol y&aifad fomam Tmam on?

(A) WrEde (MODVAT) (B) dr (VAT)

(C) 19 & (D) STfHHR H
foramt =t R0l H Ted S UM

(A) ASHI- H (B) RIS =54
(C) forehrd == w1 (D) &I =T Hl

gggxrnﬁvr &l B TS ot Y@ T TR AT S el o STHRT % SER W s s

(A) 2000 (B) 2700 (C) 2500 (D) 2400
AR IS AT ©

(A) T HHSHE Heel (B) e T

(C) TR Jenfek Heem (D) Haenfe Heen

IRA H i I T H1 AFG (b Yokl Faifes 2
(A) T T B) faoedt (C) &@ (D) W YW

By T By, x T y WA y 1 x R AT o @l %1 oW € dl x 3Ry % o= wewwe
T[UTieh BT

(A) By By, F TR (B) (Byy +Byy)/2 &

(©) By, /By, R (D) x°h y TYATEA ST i h x W IATHA & ST 4

Teh TI q1 Ui &9 o Toarhl ol Ueh |19 STl Sl ¢ | AfS S § 9 ek faaent fod (head)
3T TN € A S faent & o o1 o S ©

1 1 1 2
(A) 5 B 3 © 3 D) 3
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46.

47.

48.

49.

50.

Let x;, X5, wooeee. , X, be a randomly selected sample from a population and let (x

+ xmax)
Then,

min
/2 andx be two estimators (called [1; and [1, respectively) for population mean.
(A) [iqis biased but [i, is unbiased

(B)  [i11is unbiased but [i, is biased

(C) both fi; and fi,are unbiased but only [i;is BLUE

(

D) both [i; and [i, are unbiased but only (i, is BLUE

Which among the following is a sampling distribution ?
(A) DPoisson (B) Binomial (C) Standard normal (D) Uniform

Select the correct code :

Assertion (A) : In moving average method, the number of periods included must be
as large as possible.

Reasoning (R) : Including more periods in moving average achieves greater smoothing

of data.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Fisher’s formula for constructing index numbers is termed as ideal because :
(A) it takes into account both the current as well as the base year prices and quantities
(B) it satisfies both the time reversal and factor reversal tests

(C) itis based on geometric mean, which is suitable for studing the rates of variation
between two periods

(D) all of the above

T}llne statement that (a,b) is a 99% confidence interval for population mean, p implies,
that :

(@) 99% of population lies between a and b

(b) there is 99% chance that p lies between a and b

(c)  99% of intervals such as (a,b) contain p.

Select the correct code :

(A) (a), (b) and (c) are true

(B) only (c) is true

(C) only (b) is true

(D) Dboth (a) and (b) are true

-00o0-
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46.

47.

48.

49.

50.

Xy, Xoy ey x, T gafe § § wgfes® €9 § 99 ™ =y ¥ (v, +x
SIEEA HIEA o AT Q1 STheTh [iq 1 i, S, I ¢

A) [, ST E AR (1, S §
B) i, WA € AfRA i, 3IfHa ®
C) Tl (1, T [i, AT & AR Fael (14 (BLUE) ¥
D) T (i, T [i, SAMHA & AR %ae (1, (BLUE)

/2 dd x

max)
(
(
(
(

= & 9 F ~ree famo 72
(A) UEEA (B) SMEAIHAA (C) W% §HH (D) HHEY

ﬂ@@aﬁﬂﬁa:
HIT (A) : ¥ A TS o T, WiAferd sTafemii ot e St saret aeve 2 Hoh, Bt
|

W(R):%ramgmwmﬂrﬁﬁaﬁnﬁmw@,waﬁ@mﬂa(smooth)msn
Hehdl g |

A) THI(A) T (R) T § 3R (R), (A) T & =0 §

B) <M (A) A (R) WEl § AR (R), (A) T &t = T §

AR & gerehich I o T T 7T el Sl § T

(A) I8 AT T AT STER T S bt hiwdl SR A T Te0Ra §

(B) I% U9 ST T el SShTRIAT S bl TS hidl ©

(C) o8 ST med W enenfka § S & goArafei % st ufiedd sl g 1 AT v 6
o Sugea ©

(D) S g+t

(a,b) TEfte ATEA |, T 99% Tovarr siaua §, sqe 31 & fo -
(a) <l b ST 99% THME T

(b) TG ST H1 99% TR G foh p, a M b & = §

(c) it 99% & o, (a,b) H . fhewar &

A) (a), (b) T (c) T &
B) %ad () TE ¥
) e (b) TE T
D) < (a) 99 (b) TR

-00o0-
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